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ESIm’ +n* =23, K(m+n)’ +(m—n)’ Z(ERM?
(A)40 (B)42 (C)44 (D)46 (E) 48
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(m+n)’ +(m—n)’ =m" +2mn+n" +m" —2mn+n" =2(m’ +n°)=2x23=146

2. (C)

Ex=~5-2, K2x* +8x+3 7 EEM?

A) 445 ®) 4/5-9 ()5 (D) 6 (B) 5
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(A) BGx-2y+2)(x+y-3) (B) BGx+2y+2)(x—y+3) (C) Bx-2y-2)(x—y+3)
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a(x-2y)+b(x-y) = Ga+b)x +(-2a-b)y
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3a+b=11-------1 D
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D+ DFTEa=3
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5. (E)

SoK :

1 1
V61 + a8 +136 36+ V24 + 416 16+ 48 + V4
) %(4—%@) B) %(4—3\6) ©) i(z—%ﬁ) D) %(3—%5) E) %(2—%5)

247
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(A) x-3 (B) x+5 (©) x+2 D) x-2 (E) x+1
217
X +2x=4
= (X +2x) 19 (X’ +2x)+60=4" —194+60
4 ,-15

A><4

—154-44=-194
SER=U-15U4-4)
= (x" +2x-15)(x" +2x—4)
= (x+5)(x-3)x" +2x—4)

8.(1;3)
RS (6x7 —5xy—63°)+(10x—-15y) = (ax —by)(ex +2y +d), Bla+b+c+d=_DD ,
fa 37

(6x" —5xy—6)°)+(10x-15y)
=(Bx+2y)2x—-3y)+5(2x-3y)
=(2x-3y)3x+2y+5)
=(ax—by)ex+2y+d)
=a+b+c+d=2+3+3+5=13

9.(5)
R4S m* —13m* +36 =(m+3)m—a)(m—b)Ym+2), Ka+b=_1 .
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m' —13m" + 36

=(m" —12m* +36)—m’

— (' —6) —n’

=[(m* —6)+ m][(m" - 6) —m]
=(m* +m—6)(m* —m—6)
=(m+3)(m—-2)m—-3)(m+2)
=(m+3)(m—a)(im—>b)(m+2)
=a+b=2+3=5

(GED)

m' —13m"* +36

= (" — )" ~9)
=(m+2)(m—2)m+3)(m—3)
=(m+3)(m—a)(m—>b)(m+2)
=a+b=2+3=5
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Effla. bEEES Za+(—V12+6)b+———=0, Hla+p= LL&
2+\f/§ @D
f& 47
a+(— \/_+6)b+ 2\?}5—0
:>a+(—2\/§+6)b+2+3ﬁzo
23(2-343)

= a+(-23+6)b+

(2+33)2-33)
= a+(-2J3+6)b—(2-3/3)=0
— (a+6b—-2)+(=2b +3)3 =0

a+6b—-2=0
a. bﬁ%ﬂ%ﬁj{—zbwzo
| _(7 3
Hah)=(7.2)

:>a+b:—7+i:_—11
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